
*P76927A01024*

D
O

 N
O

T W
RITE IN

 TH
IS A

REA
 		

D
O

 N
O

T W
RITE IN

 TH
IS A

REA
						





D

O
 N

O
T W

RITE IN
 TH

IS A
REA D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

 		
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

						





D
O

 N
O

T 
W

RI
TE

 IN
 T

H
IS

 A
RE

A

10

  

9	 The diagram shows a cube and a square-based pyramid.
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	 The volume of the cube is equal to the volume of the pyramid.

	 Work out the perpendicular height, h cm, of the pyramid.
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(Total for Question 9 is 3 marks)




